= BARRACUDA

ASSEMBLING INSTRUCTION

WINDSHIELD

KTM7300-18

WWW_BARRACUDAMOTO.COM

b

w

bl

LEGEND

.BRACKET

STAFFA
SOPORTE
HALTERUNG
SUPPORT

ALLEN SCREW M&X45
VITE A BRUGOLA M8X45
TORNILLO ALLEN M8X45
INBUSSCHRAUBE M8X45
VIS ALLEN M8&X45

THICKNESSES H13
SPESSORE H13
ESPACIADOR H13
ABSTAND H13
ESPACEUR H13

SELF-LOCKING NUT @6
DADO AUTOBLOCCANTE @6

TUERCA AUTOBLOCANTE @6
SELBSTSICHERNDE MUTTER @6

ECROU AUTOBLOQUANT @6

o

@

~

WASHERS @6
RONDELLA @6
ARANDELAS @6
SCHEIBE @6
RONDELLE @6

. ALLEN SCREW M6X14

VITE ABRUGOLA M6X14
TORNILLO ALLEN M6X14
INBUSSCHRAUBE M6X14
VIS ALLEN M6X14

. ALLEN SCREW M5X12

VITE A BRUGOLA M5X12
TORNILLO ALLEN M5X12
INBUSSCHRAUBE M5X12
VIS ALLEN M5X12

TEFLON WASHERS
RONDELLA TEFLON
ARANDELAS DE TEFLON
TEFLONSCHEIBE
RONDELLE EN TEFLON

10.

. RUBBER WASHERS

RONDELLA GOMMA
ARANDELAS DE CAUCHO
GUMMISCHEIBE

RONDELLE EN CAQUTCHOUC

THREADED THICKNESSES
SPESSORE FILETTATO
ESPACIADOR ROSCADO
GEWINDE ABSTAND
ESPACEUR FILETE



